
 
Find a closed form: 

 

𝑰 = ∫ ∫
𝐥𝐧(𝒙𝒚)𝐥𝐧(𝟏 + 𝟐𝒙𝒚)

𝒙𝒚
𝒅𝒙

𝟏

𝟎

𝒅𝒚
𝟏

𝟎

 

Proposed by Abbaszade Yusif-Azerbaijan 
Solution 1 by Ankush Kumar Parcha-India 

𝑾𝒆 𝒌𝒏𝒐𝒘, ∫ ∫ 𝒇(𝒙𝒚)𝒅𝒙
𝟏

𝟎

𝟏

𝟎

𝒅𝒚 = − ∫ 𝐥𝐧(𝒕)𝒇(𝒕)
𝟏

𝟎

𝒅𝒕 

𝑰 = ∫ ∫
𝐥𝐧(𝒙𝒚)𝐥𝐧(𝟏 + 𝟐𝒙𝒚)

𝒙𝒚
𝒅𝒙

𝟏

𝟎

𝒅𝒚 = − ∫
𝐥𝐧𝟐(𝒙)𝐥𝐧(𝟏 + 𝟐𝒙)

𝒙

𝟏

𝟎

𝟏

𝟎

𝒅𝒙 = 

=𝑰𝑩𝑷 [𝐥𝐧𝟐(𝐱)∫ 𝐝(𝐋𝐢𝟐(−𝟐𝐱))]
𝟎

𝟏
− 𝟐 ∫

𝐥𝐧(𝒙)𝑳𝒊𝟐(−𝟐𝒙)

𝒙

𝟏

𝟎

𝒅𝒙 =𝑰𝑩𝑷− 𝟐[𝐥𝐧(𝒙) ∫ 𝒅(𝑳𝒊𝟑(−𝟐𝒙))]
𝟎

𝟏
 

+𝟐 ∫
𝑳𝒊𝟑(−𝟐𝒙)

𝒙

𝟏

𝟎

𝒅𝒙 = 𝟐 ∫ 𝒅(𝑳𝒊𝟒(−𝟐𝒙)𝒅𝒙
𝟏

𝟎

= 𝟐𝑳𝒊𝟒(−𝟐) 

𝑳𝒊𝟒(−𝒛) + 𝑳𝒊𝟒 (−
𝟏

𝒛
) = −

𝟕𝝅𝟒

𝟑𝟔𝟎
− 𝝅𝟐𝐥𝐧𝟐(𝐳) −

𝐥𝐧𝟒(𝐳)

𝟐𝟒
  

𝑰 = ∫ ∫
𝐥𝐧(𝒙𝒚)𝐥𝐧(𝟏 + 𝟐𝒙𝒚)

𝒙𝒚
𝒅𝒙

𝟏

𝟎

𝒅𝒚
𝟏

𝟎

= 𝑳𝒊𝟒(−𝟐) − 𝑳𝒊𝟒 (−
𝟏

𝟐
) −

𝟕𝝅𝟒

𝟑𝟔𝟎
−

𝝅𝟐𝐥𝐧𝟐(𝟐)

𝟏𝟐
−

𝐥𝐧𝟒(𝟐)

𝟐𝟒
 

 

Solution 2 by Arowolo Isaiah-Nigeria 

𝑰 = − ∫
𝐥𝐧𝟐(𝒙)𝐥𝐧(𝟏 + 𝟐𝒙)

𝒙

𝟏

𝟎

=𝑰𝑩𝑷− ([
𝐥𝐧𝟑(𝒙) 𝐥𝐧(𝟏 + 𝟐𝐱)

𝟑
]

𝟎

𝟏

−
𝟐

𝟑
∫

𝐥𝐧𝟑(𝒙)

𝟏 + 𝟐𝒙

𝟏

𝟎

𝐝𝐱) 

𝑰 =
𝟐

𝟑
∫

𝐥𝐧𝟑(𝒙)

𝒙

𝟏

𝟎

𝒅𝒙 =
𝟐

𝟑
(∑(−𝟐)𝒏 ∫ 𝒙𝟑𝒏𝐥𝐧𝟑(𝒙)

𝟏

𝟎

𝐝𝐱)

∞

𝒏=𝟎

=  −
𝟏

𝟑
(∑(−𝟐)𝒏 ∫ 𝒙𝒏−𝟏𝐥𝐧𝟑(𝒙)

𝟏

𝟎

𝒅𝒙) 

∞

𝒏=𝟏

 

𝑰 = −
𝟏

𝟑
∑(−𝟐)𝒏  (

𝒅𝟑

𝒅𝒏𝟑
(

𝟏

𝒏
))

∞

𝒏=𝟏

= 𝟐 ∑
(−𝟐)𝒏

𝒏𝟒

∞

𝒏=𝟏

= 𝟐𝑳𝒊𝟒(−𝟐) = 𝑳𝒊𝟒(−𝟐) + 𝑳𝒊𝟒(−𝟐) 

𝑰 = 𝑳𝒊𝟒(−𝟐) − 𝑳𝒊𝟒 (−
𝟏

𝟐
) + 𝐥𝐧𝟐(𝟐)𝐋𝐢𝟐(−𝟏) + 𝟐𝐋𝐢𝟒(−𝟏) −

𝐥𝐧𝟒(𝟐)

𝟐𝟒
 

𝑰 = 𝑳𝒊𝟒(−𝟐) − 𝑳𝒊𝟒 (−
𝟏

𝟐
) + 𝐥𝐧𝟐(𝟐) (−

𝟏

𝟐
𝛇(𝟐)) + 𝟐 (−

𝟕

𝟖
𝛇(𝟒)) −

𝐥𝐧𝟒(𝟐)

𝟐𝟒
 

𝑰 = 𝑳𝒊𝟒(−𝟐) − 𝑳𝒊𝟒 (−
𝟏

𝟐
) −

𝝅𝟐𝐥𝐧𝟐(𝟐)

𝟏𝟐
−

𝟕𝝅𝟒

𝟑𝟔𝟎
−

𝐥𝐧𝟒(𝟐)

𝟐𝟒
 

 


